

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation 6611C033

6611C033

| **** | PAGE |
|------|------|
| | 1 |

| ADDRESSIONRESSE | NDENGERIOWERENTION (OR SE |
|-----------------|---------------------------|
| BUYER 33 | |
| 0046502402 | |

RFO COPY TYPE NAME/ADDRESS HERE

Greenbrier Excavating & Paving, Inc PO Box 277 Ronceverte WV 24970

| 07/08/ | | TER NET | us of sal 30 | E . | SHIF BEST WA | | DES | FOB STINATION | PREPAID | |
|-------------------|--|--|--|-------------------------------------|--|---|----------------------------|--|--------------------------------|--|
| BID OPENING DATE: | ZUJ.I. | 07/27/2 | 2011. | | | BTD (| DEN | PENING TIME 01:30PM | | |
| LINE | QU/ | ANTITY | UOP | CAT. NO | ITEM N | UMBER | | UNIT PRICE | AMOUNT | |
| 0001 | RAPID | 1 | SL CUTB | | 745-67 SPHALT P. | ATCHING I | MIX | | | |
| | | | - | OPEN | END CON | TRACT | | | | |
| | AGENCY SOLICI ALL LA MODIFI (COLD | Y. THE VITING BIABOR, MARIED WINT MIED WINT MIX) TO | VEST V CDS FO ATERIA CER GI VAR | VIRGII DR AN ALS AI RADE I | VIA DIVI OPEN EN VD EQUIP BITUMINO | SION OF 1 D CONTRAC MENT NEC! US PATCH: S THROUG! | IIGH CT T ESSA NG | O PROVIDE RY TO SUPPLY MIXTURE | | |
| | UPON AYEAR OF STREET OF THE PORT ENDING TO THE PREASON | OF CONTINUES OF CO | ID EXT SUCT TO OT RACT ELVE DOR I | TENDS TAIN THI (12) | FOR A PASONABLE A NEW CURE REASO MONTHS. RMINATE | DURING THIS CO | ONE TERE THI | (1) AFTER AS | I . | |
| | THIS O ITS AC CONDIT | CONTRAC'S | DOCI OR D PR | MENT POLIT ICING NTRA | BY THE ICAL SUB SET FOR CT. | STATE OF | WES S, T N AR | ELSEWHERE IN T VIRGINIA, HE TERMS, E FIRM FOR | PECEIVED 7011 AUG -3 PH 1: 00 | |
| SIGNATURE \ | 71 2 77 | | | SEEA | - VEHSE SIDE RC | TELEPHONE 304-6 | | DAT | E24844544 | |
| | SPH | 745 | CIN | | <u></u> | 304-6 | 047 <u>–</u> | 4296 8 | \$76172011 | |
| TITLE VP | | 1 | | -0635 | | | | | ES TO BE NOTED ABOVE | |
| W | HEN RES | SPONDING | TO RFO | Q, INSEI | RT NAME AN | ND ADDRESS | IN SI | PACE ABOVE LABE | LED 'VENDOR' | |

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



HODNEY

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for MEGANUMBER Quotation

Ť

6611C033

BUYER 33 304-<u>558-2402</u>

DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

ADDRESS CHANGES TO BE NOTED ABOVE

RFQ COPY TYPE NAME/ADDRESS HERE

Greenbrier Excavating & Paving, Inc PO Box 277 Ronceverte WV 24970

FOB. FREIGHT/TERMS SHIP VIA TERMS OF SALE DATE PRINTED PREPAID DESTINATION NET 30 BEST WAY 07/08/2011 BID OPENING DATE: 07/27/2011 BID OPENING TIME 30PM AMOUNT UNIT PRICE ITEM NUMBER QUANTITY UOP LINE RENEWAL: THIS CONTRACT MAY BE RENEWED UPON THE MUTUAL WRITTEN CONSENT OF THE SPENDING UNIT AND VENDOR, \$UBMITTED TO THE DIRECTOR OF PURCHASING THIRTY (30) DAYS PRIOR TO THE EXPIRATION DATE. SUCH RENEWAL SHALL BE IN ACCORDANCE WITH THE TERMS AND COMDITIONS OF THE priginal contract and shall be limited to two (2) SUCCESSIVE ONE (1) YEAR PERIODS. THE DIRECTOR OF PURCHASING RESERVES THE CANCELLATION RIGHT TO CANCEL THIS CONTRACT IMMEDIATELY UPON WRITTEN NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICES \$UPPLIED ARE OF AN INFERIOR QUALITY OR DO NOT CONFORM WITH THE SPECIFICATIONS OF THE BID AND CONTRACT HEREIN. OPEN MARKET CLAUSE: THE DIRECTOR OF PURCHASING MAY UTHORIZE A SPENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILLING OF A REQUISITION OR COST ASTIMATE, ITAMS SPECIFIED ON THIS CONTRACT FOR immediate delivery in emergencies due to unforeseen dauses (including but not limited to delays in ransportation or an unanticipated increase in the OLUME OF WORK). Insurance: successful vendor shall furnish proof of doverage of dommercial general liability insurance HRIOR TO ISSUANCE OF THE CONTRACT. UNLESS OTHERWISE SPECIFIED IN THE BID DOCUMENTS, THE MINIMUM AMOUNT OF INSURANCE COVERAGE REQUIRED IS \$250,000. WORKER'S COMMENSATION: VENDOR IS REQUIRED TO PROVIDE A DERTIFICATE FROM WORKER'S COMPENSATION IF SUCCESSFUL. IN THE EVENT THE VENDOR/CONTRACTOR FILES BANKRUPTCY: FOR BANKRUPTCY PROTECTION, THIS CONTRACT IS AUTOMATIdally null and void, and is terminated without further CRDER. SEE REVERSE SIDE FOR TERMS AND CONDITIONS TELEPH304-647-4296 **897**01/2011 SIGNATURE

FEIN 55-0635695



RFQ COPY

PO Box 277 Ronceverte WV

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for
Quotation

6611C033

ADDRESS CORRESPONDED

BUYER 33

24970

| PAGE | : |
|------|---|
| _ | |

ADDRESSICORRESPONDENCES (OTATECNTION OF

| ļ | вυ | ΥJ | ΞR | 3 | 3 |
|---|----|----|----|---|---|
| • | | | | | |

B04-558-2402

SHIP TO Greenbrier Excavating & Paving, Inc

| DATE PRINTED | TERMS OF SALE | SHIP VIA | FOB. | FREIGHTTERMS |
|---|---|---|--|-------------------|
| 07/08/2011 | NET 30 | BEST WAY | DESTINATION | PREPAID |
| | 7/27/2011 | | PENING TIME 01 | :30PM |
| LINE QUAN | TITY UOP C | AT ITEM NUMBER | UNIT PRICE | AMOUNT |
| REV. 9/ EXHIBIT LOCAL G IN THE AND CON AND OTH TO POLI VIRGINI PRICES, POLITIC CLEARLY SHALL N MANNER. REV. 3/ A SIGNE DE | 98 4 OVERNMENT BOD BID HIS REFUS DITIONS OF THE ER LOCAL GOVE TICAL SUBDIVI A. IF THE VE TERMS, AND CO AL SUBDIVISIC INDICATE SUC OT PREJUDICE 88 N D BID MUST BE PARTMENT OF A | DIES: UNLESS THE VERT TO EXTEND THE PROPERTY SOLUTIONS, THE ESIONS OF THE STATE ENDOR DOES NOT WISH CONDITIONS OF THE BITCH REFUSAL IN HIS BUTTLE AWARD OF THIS CONTICE | VENDOR INDICATES RICES, TERMS, CHOOL, MUNICIPAL BID SHALL EXTEND OF WEST TO EXTEND THE CD TO ALL HE VENDOR MUST CD. SUCH REFUSAL | |
| PU BU 20 | RCHASING DIVI ILDING 15 | SION STREET, EAST | | |
| THE BID | SHOULD CONTA ELOPE OR THE | THIS INFORMATION BID MAY NOT BE CONS | ON THE FACE OF IDERED: | |
| SEALED 1 | BID | | | |
| | , SI | EE REVERSE SIDE FOR TERMS AND CON | | |
| SIGNATURE | and productions of the second | TELEPHONE - 6 | 547-4296 P870 | 01/2011 |
| TITLE VP | FEIN 55-063 | 35695 | ADDRESS CHANGES | TO BE NOTED ABOVE |



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

RFQ NUMBER 6611C033 1

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BUYER 33

<u> \$04-558-2402</u>

SH-P

Ť

*709052626 304-647-4296 GREENBRIER EXCAVATING & PAVING VENDOR PO BOX 277 RONCEVERTE WV 24970

| DATE PR | INTED | | MS OF SAL | Ē | Ligion, con contrata de la contrata | SHIP VIA | | О.В. | FREIGHTTERMS |
|-----------------|---------|----------|-----------|-------------|--|---|------------|--------------|---------------------|
| 07/27 | | NET | 30 | | BEST | WAY | DESTINA | ATION | PREPAID |
| BID OPENING DAT | E: | 08/03/2 | 011 | | | BTD (| PENTIG | TIME 01 | ;30PM |
| LINE | Qυ | ANTITY | UOP | CAT. NO. | ITEI | M NUMBER | UNI | TPRICE | AMOUNT |
| | | | | | | | | | |
| | | | , | וואניו רוב | NTTR# NT/ | 4 | | | |
| | | | F | יומים ממי | OUM NO. | T | | | |
| | | | | | | | | | |
| | ADD: | VENDOR | PREFE | RENCE | CERTI | FICATE | | | |
| | | | | | | | | | |
| | | | | | | | | | |
| | BID OF | ENING I | ATE A | LT DM | ме сна | NGED | | | |
| | FROM: | 07/27/ | 11 @1 | .30 1 | M | | | | |
| | TROPI. | 01/21/ | 11 61 | | . 1.1 . | | | | |
| - | то: | 08/03/ | 11 @1 | :30 E | M. | | | | |
| - | | | | | | | | | |
| | | | L | | | | | | |
| | NO OTH | IER CHAN | GES | | | | | | |
| | | | | ; | | | | | , |
| | | • | | ! | | | | | |
| d001 | | G | L | | 45-67 | | | | |
| | RAPID | CURING | CUTBA | | | PATCHING N | XIX | | |
| | | | | | | | | | |
| | | | | | | | | | |
| | | | , | | | | | | |
| | | | , | | | | | | |
| | ***** | THIS | TS TH | E ENI | OF RE | Q 6611C | 733 **** | ** TOTAL: | |
| | | | | | 02 112 | 2 00220 | | 101.11 | |
| | | | | | | | | | |
| | | | | | | | | | |
| | | | · | | | | | | |
| | | | | | | • | | | |
| | | | | | | | | | |
| | | | | · | | | | | |
| | | | | | | | | | |
| | | | | | | | | | |
| W | <u></u> | | | | | ASSESSMENT OF THE PROPERTY OF | | | |
| SIGNATURE 1 | MAN | = | | SEE RE | VERSE SIDE I | FOR TERMS AND CO | | - RTADI | 01/2011 |
| | XXX(| <u> </u> | F. F. | A-C-A-E | A-F | 304-64 | 17-4296 | 187 | 01/2011 |
| TITLE | V | , F. | ™ 55- | 06356 | 95 | | AD | DRESS CHANGE | S TO BE NOTED ABOVE |
| · W | HEN RES | PONDING | TO RFQ | , INSER | T NAME A | ND ADDRESS | IN SPACE A | ABOVE LABEL | ED 'VENDOR' |



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston MV 25205 0130 Charleston, WV 25305-0130

| **** | PAGE |
|------|------|
| | 4 |

| AL. | DRESS COR | BESPONDE | NCETOAT | TENTIONO | |
|--------|-----------|----------|---------|----------|--|
| UYER | 33 | | | | |
| ~ 4 PF | | ~ | | | |

| RFQ COPY FYPE NAME/A Greenbrier PO Box 277 Ronceverte | ADDRE | SS HER | E | | |
|---|-------|--------|---|---------|-----|
| Greenbrier 20 Box 277 | Exca | vating | & | Paving, | Inc |
| Ronceverte | WV | 24970 | | | |

| N.7.7.7. | IMS OF SALE | SHIP VIA | | ESTINATION | PREPAID |
|---|-----------------------------|-------------------------------|--------------------|---------------------------|---------------------|
| 07/08/2011 NET BID OPENING DATE: 07/07/ | | BEST WAY | | | .30PM |
| BID OPENING DATE: 07/27/ | 2011 UOP CAT NO | ITEM NUMBER | 3119-QPB | NING TIME 01 UNITPRICE | AMOUNT |
| 5000 | NO NO | | · · | | |
| |]] . | ATT BEITTE | | TT 10 00 | |
| BUYER: | | PAUL REYNOLDS | 5 F. | ILE 33 | |
| RFQ. NO.: | | 611C033 | | | |
| BID OPENING | PATE: | TULY 27, 201: | 1. | | |
| BID OPENING | TIME: | :30 P.M. | | | |
| PLEASE PROVI TO CONTACT Y | DE A FAX N OU REGARDI | UMBER IN CASI NG YOUR BID: | E IT IS 304-645 | NECESSARY 5-4610 | |
| CONTACT PERS | 1 1 | PRINT CLEAR m Alan O'Bri | | | |
| ***** THTS | TO THE EN | D OF PEO 6 | 6110033 | ***** TOTAL: | |
| | | | | 201121 | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | SEE A | EVERSE SIDE FOR TEAMS | | | · |
| SIGNATURE | | | 04-647- | <u>, . ,</u> | 01/2011 |
| TITLE VP | FEIN 55-0635 | 695 | | ADDRESS CHANGE | S TO BE NOTED ABOVE |

66-11-C033°

| VENDOR NAME: | Greenbrier | Excavating 8 | & Paving, | Inc. |
|--------------|------------|--------------|-----------|------|

| | | Unit of | Estimated | Unit Cost | Extended |
|----------|---------------------------------|---------|-------------|-----------|-----------|
| County | Delivery/Storage Site | Measure | Number Tons | Per Ton | Cost |
| Boone | Clinton @ WV85 | TON | 275 | 90.35 | 24,846.25 |
| Boone | Rock Creek | TON | 250 | 89.35 | 22,337.50 |
| Boone | Seth | TON | 75 | 89.35 | 6,701.25 |
| Clay | Widen Road & CR 11 | TON · | 200 | 91.10 | 18,220.00 |
| Clay | Maysel | TON | 0 . | | |
| Kanawha | Chelyan | TON | 200 | 83.50 | 6,700.00 |
| Kanawha | Elkview | TON | 200 | | |
| Kanawha | North Charleston | TON | 200 | | |
| Kanawha: | St. Albans | TON | 100 | | |
| Kanawha | I-64 @ Rt. 119 and Penn. Avenue | TON | 50 | | |
| Kanawha | I-77 @ Sissonville | TON | 100 | | |
| Kanawha | I-79 @ Amma | TON | 30 | | |
| Kanawha | Corridor G @ Alum Creek | TON | 30 | | |
| Mason | Pt. Pleasant | TON | 200 | | |
| Putnam | Red House | TON | 75 | | |
| Putnam | Hurricane @ Rt. 34 | TON | 75 | | |
| Putnam | Scary | TON | 30 | | |

66-11-C033

| VENDOR NAME: | Greenbrier | Excavating | & | Paving, | Inc. |
|--------------|------------|------------|---|---------|------|
|--------------|------------|------------|---|---------|------|

| | • | Unit of | Estimated | Unit Cost | Extended |
|---------|------------------------|---------|-------------|-----------|----------|
| County | Delivery/Storage Site | Measure | Number Tons | Per Ton | Cost |
| Barbour | Phillipi | TON | 40 | | |
| Braxton | Laurel Court | TON | 150 | | |
| Braxton | I-79 @ Coon Knob | TON | 25 | 84.00 | 2,100.00 |
| Braxton | I-79 @ Burnsville | TON | 25 . | 86.50 | 2,162.50 |
| Gilmer | Glenville Headquarters | TON | 60 | 91.00 | 5,460.00 |
| Lewis | Weston (Ben Dale) | TON | 100 | | |
| Upshur | Clow Lot @ Buckhannon | TON | 40 | | |
| Webster | Cherry Falls | TON | 30 | 86.00 | 2,580.00 |
| Webster | Cowen | TON | 30 | 86.00 | 2,580.00 |
| Webster | Hacker Valley | TON | 30 | 88.50 | 2,655.00 |

13.

BID SCHEDULE

66-11-C033

| [| | |
|----------------|-------------------------------------|-------|
| | | Į. |
| | 1 | |
| VELLE OF ALLEY | Greenbrier Excavating & Paving, Inc | • . I |
| IVENDOR NAME: | dicempiler breavacing a raving, inc | · • |
| VENDOR NAME. | | |

| | | Unit of | Estimated | Unit Cost | Extended |
|------------|-----------------------|---------|-------------|-----------|----------|
| County | Delivery/Storage Site | Measure | Number Tons | Per Ton | Cost |
| Pendleton | Franklin | TON | 100 | 95.00 | 9,500.00 |
| Pocahontas | Marlinton | TON | 25 | 85.00 | 2,125.00 |
| Randolph | Elkins | TON | 125 | | |
| Tucker | Parsons | TON | 60 | | + |

66-11-C033

| VENDOR NAME: | Greenbrier Excavating & Paving, Inc. |
|--------------|--------------------------------------|
| L | |

| | | Unit of | Estimated | Unit Cost | Extended |
|------------|-----------------------|---------|-------------|-----------|-----------|
| County | Delivery/Storage Site | Measure | Number Tons | Per Ton | Cost |
| Fayette | Oak Hill | TON | 100 | 79.25 | 7,925.00 |
| Fayette | Corridor L @ Oak Hill | TON | 0 | | |
| Fayette | Lookout | TON | 100 | 78.75 | 7,875.00 |
| Fayette · | Glen Ferris | TON | 200 - | 81.00 | 16,200.00 |
| Greenbrier | Lewisburg | TON | 125 | 75.00 | 9,375.00 |
| Greenbrier | Crawley | TON | 100 | 75.75 | 7,575.00 |
| Greenbrier | I-64 @ Hart's Run | TON | 15 | 80.00 | 1,200.00 |
| Monroe | Union | TON | 275 | 78.00 | 21,450.00 |
| Monroe | Peterstown | TON | 0 | | |
| Nicholas | Summersville | TON | 175 | 80.00 | 14,000.00 |
| Nicholas | Curtin | TON | 25 | 82.00 | 2,050.00 |
| Nicholas | Corridor L @ Muddlety | TON | 150 | 81.00 | 12,150.00 |
| Summers | Hinton | TON | 50 | 79.00 | 3,950.00 |

66-11-C033

| VENDOR NAME: | Greenbrier | Excavating 8 | Paving, | inc. |
|--------------|------------|--------------|---------|------|

| | | Unit.of | Estimated | Unit Cost | Extended |
|----------|-----------------------|---------|-------------|-----------|----------|
| County | Delivery/Storage Site | Measure | Number Tons | Per Ton | Cost |
| McDowell | County Headquarters | TON | 100 | 88.00 | 8,800.00 |
| Mercer | County Headquarters | TON | 100 | 83.00 | 8,300.00 |
| Raleigh | County Headquarters | TON | 100 | 78.00 | 7,800.00 |
| Wyoming | County Headquarters | TON | 100 | 86.00 | 8,600.00 |

8/01/2011

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

| 1. | Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preced- |
|--------------------|--|
| X | ing the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or, |
| 2. X | Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or, |
| 3. | Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or, |
| 4. | Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or, |
| 5. | Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or, |
| 6. | Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years. |
| require against | understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ments for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency ucted from any unpaid balance on the contract or purchase order. |
| authorized the req | mission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and zes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid uired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information d by the Tax Commissioner to be confidential. |
| and ac | penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate es during the term of the contract, Bidder will notify the Purchasing Division in writing immediately. |
| Bidder. | Greenbrier Excavating & Paving Signed: |

Title:

*Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

| RFQ No. | 6611C033 |
|------------|----------|
| 1/1.03 140 | · |

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, Limited Liability Company or any other form or business association owing a debt to the state or any of its political subdivisions, "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE Greenbrier Excavating & Paving, Inc. Vendor's Name: Date: Authorized Signature: County of Taken, subscribed, and sworn to before me this 3My Commission expires NOTORY PUBLIC AFFIX SEAL HERE NOTARY PUBLIC STATE OF WEST VIRGINIA LINDAS. MANN

RHAT **BUNBVA GOCWAJANM 001** RONCEVERTE, WEST VIRGINIA 24970 COMMISSION EXPIRES MAY 17, 2015



CERTIFICATE OF LIABILITY INSURANCE

DATE (MINDD/YYYY) 7/18/2011

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the

| certificate holder in lieu of such endorsement(s). | LOUTAGE | | | |
|--|--|---|--|--|
| PRODUCER | (N/HIN C. | Sherwood | | <u>. </u> |
| Morgan & Morgan Inc. | IAC. lie Exil: (304 |)645-4565 | FAX (NO. Not: (364) 6 un-insurance.com | 45-4564 |
| PO Box 129 | ADDRESS BSherw | ood@morga | m-insurance.com | т- |
| 114 West Edgar Ave | | | RDING COVERAGE | NAIC# |
| Ronceverte WV 24970 | MSURERA:Erie | | | 26830 |
| INSURED | INSURER B : Brick | street I | nsurance | 12372 |
| GREENBRIER EXCAVATING | INSURER G: | | | |
| & PAVING INC | INSURERD: | | | |
| P.O. BOX 277 | INSURERE: | | | |
| RONCEVERTE WV 24970-0277 | INEURERF: | | | |
| CERTIFICATE NUMBER: CL1171800 | | | REVISION NUMBER: | |
| MHIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HA "INDICATED, NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORD EXCLUSIONS AND CONDITIONS OF SUCH POLICIES, LIMITS SHOWN MAY HAVE | OF ANY CONTRACT TED BY THE POLICIT BEEN REDUCED BY | T OR OTHER ES DESCRIBE YPAID CLAIMS | DOCUMENT WITH RESPECT TO D HEREIN IS SUBJECT TO ALL S. | WHICH THIS |
| INSR TYPE OF INSURANCE INSR YWO POLICY NUMBER | WWDD/YYYY | POLICY EXP (MM(ODAYYY) | LIMITS | |
| GENERAL LIABILITY | | | EACH OCCURRENCE \$ | 1,000,000 |
| U X COMMERCIAL GENERAL DABILITY | | | DAMAGE TO RENTED PREMISES (Ea occurrence) \$ | 1,000,000 |
| AC CLAMS-MADE X OCCUR Q45-7450012 | \$/24/2010` | 0/24/2011 | MED EXP (Any one person) \$ | 5,000 |
| PRO | - | | PERSONAL & ADV INJURY \$ | 1,000,000 |
| 740 | | | GENERAL AGGREGATE \$ | 3,000,000 |
| GEN'L AGGREGATE LIMIT APPLIES FER: | | | PRODUCTS - COMP/OF AGG \$ | 2,000,000 |
| 1.2 X POLICY SECT LOC | | | COMBINED SINGLE LIMIT | |
| RO AUTOMOBILE LIABILITY | | | (En accident) \$ | 1,000,000 |
| OTUA YHA AUTO | , | 44.10000 | BODILY INJURY (Per person) \$ | |
| ALL OWNED X SCHEDULED AUTOS V NON-ONVED | B/24/2010 | 9/24/2011 | BODILY INJURY (Per peddent) \$ PROPERTY DAMAGE 9 | |
| T "" HINEU AUTOS "" AUTOS | | | (Per ecnident) | |
| 9.5 | | ļ | | |
| ROJIX UMBRELLA LIAB X OCCUR | | | EACH OCCURRENCE \$ | 1,000,000 |
| CLAIMS MADE | | | AGGREGATE 5 | 1,000,000 |
| DED RETENTION \$ 233-7470001 | 9/24/2010 | 9/24/2011 | S CONT | |
| BIT WORKERS COMPENSATION YAN YAN | | | X WC STATU. X OTH- | |
| TEANY PROPRIETOR/PARTNER/EXECUTIVE N/A | 6/22/2011 | 6 (22 /2012 | EL EACH ACCIDENT \$ | 1,000,000 |
| It yes, describe under | 6)22/2012 | 0/22/2012 | EL. DISEASE - EA EMPLOYEE \$ | 1,000,000 |
| DESCRIPTION OF OPERATIONS betw | | | E.L. DISEASE - POLICY LIMIT S | 1,000,000 |
| | | | | |
| .83 200 | | | | |
| | | | | |
| DÉSCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (Attach ACORD 101, Additional Remarks 5 | Schädule, if more space | is required) | | |
| wa | | | | |
| 5 ·- 200. 15 ·- | | | | • |
| 54. (90) | | | | |
| the second secon | | | | Į |
| 9- f | | | | |
| | CANCELLATION | | | |
| CERTIFICATE HOLDER | CANCELLATION | | | |
| 13.47° | SHOULD ANY OF | THE ABOVE D | ESCRIBED POLICIES BE CANCEL | LED BEFORE |
| Hearing the state of the state | THE EXPIRATION | N DATE TH | EREOF, NOTICE WILL BE DE | LIVERED IN |
| BUT STATE OF WEST VIRGINIA | · ACCORDANCE W | AIR THE PULIC | CY PROVISIONS. | |
| DEPT. OF ADMINISTRATION | AUTHORIZED REPRESI | ENTATIVE | \\\\\\\\\ | |
| PURCHASING DIVISION | .,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | |
| CHARLESTON, WV 25305 | | - | JOC . | ļ |
| Summano Toddy 114 Epolop | Brandi Sherwo | ood/BS | techniquence | |
| ************************************** | 60.60 | AD DOAD 60 | ODD CODDODATION All rin | hie recented |

(2010/05) (ACORD 25 PINS025 (201005),01